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Run#20444(06/29) intth n collision=127 Modebit=79 60min

_prev

bco_full&0x7F

—ZH 5T PleuphfeZ > TWB LD ICRZ S

12E%B B4~y (ihi-1)

bco_full&0x7F _prev vs bco

-

N

o
.

bco_full&0x7F

-
o
o

(2]
(=}

D
o

40

20

A Nk

BELCA XK

bco_full&0x7F vs bco

40 60 80

x10°
1800

1600

1400

1200

1000

800

600

400

200

120

bco



173_ o/ L/7L\_RUH t

Rt colsin Modebitl___________________lPiewo__

23648
23653
23661
23662
23666
233896
23901

23902~
23907

W W O O O N

3

92
91
91
91
92
92

92
92

Timing scan
/)
/)
/]

Schedular change

The magnets had already begun to decrease in
current value.

/]

/]

No
Yes
No
No
Yes
Yes

No



ROV ES

o FPERIZHEHIH B A X FDBCOEMtERE L4 N> FDBCO_FullX &
1 281D A X kDBCO Full

e FTEXIZBCO FullXI|x1 2814 X2 F®DBCO FullhwBCOZAF|LN -
LDEER T T LIZ LTz, Pileuph' 9 < (128LUNIZ) T - 7=
DNEN D D T-8,

e £ - NEH Dbco&EN-1FEHDBCO_Full A :RLAXRY MEL
« BCO_full-BCOIZ 0 Rimd & &+12879 %,




Run#23648 inttb n_collision=127 Modebit=70 1Imin Pileup7s L
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Run#23661 intth n_collision=0 Modebit=91 1min
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Run#23906 intth n_collision=3 Modebit=97
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